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11. A consumer considers that one unit of Coke (x) is a perfect substitute for two units of Pepsi (v). Which
utility function can express his preference?
[A] U=xt+2y [B} U=2x+y
[C] U=min{x,2y} [D] U=min{2x,}

12. Consider a linear demand function g = 6 — 2p. The price elasticity of demand at p=1 is
[A] -2 [B]-05
(C1-1 [D] -0.1

13. If the Engel of a good is negatively sloped, this good must be a(n)
[A] normal good [B] inferior good
[C] Giffen good [D] ordinary good

14. A consumer consumes two goods, x and y. When the prices are (py, p)) = (1, 2), her consumption bundle
is (x, y) = (5, 3). When the prices are (ps, p,) = (4, 1), her consumption bundle is (x, y) = (@, b). Which of
the following bundle (g, b) indicates that her choices violate the weak axiom of revealed preference?

[A] (6, 1) [(B] @3, %)

[C1@2.2) [D] (1, 8)

15, Which utility function is not homothetic?
[A] U=xy [B] U=xty
[C) U=minx, y} [D] U=x"+y
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16. A competitive firm has the short- run total cost function 7C = g’ —8q* +64q+24 . The firm will
produce a positive amount in the short run if and only if the price is greater than
[A] 4 [B]) 16
[C] 48 [D]) 96

17. Consider a production function f(L,K)=2I**K**. This production function exhibits

marginal returns in L and X and returns to scale,
[ A]) diminishing, decreasing [B] increasing, decreasing
[ C]) diminishing, increasing [ D] increasing, increasing

18. Offers like “buy two, get one free” is an example of
[ A] first-degree price discrimination
[B] second-degree price discrimination
[C] third-degree price discrimination
[D]) dumping

19. Which one is not true for monopolistic competition?
[ A] Firms and enter or exit the market freely
[B] Firms produce differentiated product varieties
[C] Firms are price takers
[D] Firms make zero profit in the market

20. Consider a game with two players, I and II, Player I can choose among A, B, and C; and player 1l can
choose among X, Y, and Z. The table below shows payoffs of these two players, where the first number
in each cell is the payoff of player [ and the second number is the payoff of player 1. How many
pure-strategy Nash equilibria are there in this game?

11
X Y 7
A (3,3) (0,2) (0,0)
I B (2,0) (1,1) (3,0)
C 2,2) (0.3) 4.9
[A) O [B]1
[C]2 [D]3
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4. A consumer has a utility function U/ = \/51- , where m is her wealth. Her initial wealth is $100, and she
can buy a lottery for $50. The lottery pays $150 with a probability of 40%, and it pays nothing ($0) with
a probability of 60%. If this consumer buys the lottery, her expected wealth is (26) ,

and her expected utility level is 27

5. Consider a market with an inverse demand function P =10-20" and an inverse supply function
P =4+0°. If the government imposes a $2 sales tax, the market equilibrium quantity would be
(28)
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6. A monopolist has a total cost function TC =10+2g+ g* and faces an inverse demand
function p =4 —2q . Find the equilibrium price and quantity (p*, q*) = 29)

7. Consider an oligopoly market with two firms, where the inverse demand function is p = 1-¢,—q, . The
cost function of these firms is 7C =0.5g,, where i = 1, 2. Find the Nash-Cournot equilibrium outputs

(@*¢.")= 30






